# **Dell Compellent Data Storage Array Expansion**

## **Equipment Listing**

### **Expansion Enclosure #1**

DELL COMPELLENT Enclosure, SAS 6Gb, 3.5, 12-bay

2TB NL SAS 6Gb, 7.2K, 3.5 HDD

6Gb SAS Cable, 2M

Thank you choosing Dell. For tech support, visit http://www.compellent.com/Support-Services.aspx or call 1-866

Dell Hardware Limited Warranty Initial Year

Dell Hardware Limited Warranty Extended Year

Dell Compellent Copilot: 4-Hour On-site Service After Problem Diagnosis, 4 Year Extended

Dell Compellent Copilot: 7x24 HW / SW Tech Support and Assistance , 5 Year

Dell Compellent Copilot: 4-Hour On-site Service After Problem Diagnosis, Initial Year

COMPELLENT, 5 YEAR PARTS, Base WARRANTY

Installation and Implementation of Additional Disk Enclosures into Existing Dell Compellent SAN, up to 2 Enclo

Power Cord, NEMA 5-15P to C13,15 amp, wall plug, 6 feet / 2 meter for Compellent

### **Expansion Enclosure #2**

DELL COMPELLENT Enclosure, SAS 6Gb, 3.5, 12-bay

2TB NL SAS 6Gb, 7.2K, 3.5 HDD

6Gb SAS Cable, 2M

Thank you choosing Dell. For tech support, visit http://www.compellent.com/Support-Services.aspx or call 1-866

Dell Hardware Limited Warranty Initial Year

Dell Hardware Limited Warranty Extended Years

Dell Compellent Copilot: 4-Hour On-site Service After Problem Diagnosis, 4 Year Extended

Dell Compellent Copilot: 7x24 HW / SW Tech Support and Assistance, 5 Year

Dell Compellent Copilot: 4-Hour On-site Service After Problem Diagnosis, Initial Year

COMPELLENT, 5 YEAR PARTS, Base WARRANTY

HARDWARE INSTALL INCLUDED IN SAN/DAS IMP/INST BUNDLE

Power Cord, NEMA 5-15P to C13,15 amp, wall plug, 6 feet / 2 meter for Compellent

### Software/Training

Dell Education Services - Compellent - NO TRAINING Selected

Dell Education Services - Compellent - NO TRAINING Selected

Dynamic Controllers Expansion License, Customer Kit

Dynamic Capacity Expansion License, Customer Kit

Data Instant Replay Expansion License, Customer Kit

Storage Center Core Expansion License, Customer Kit

Data Progression Expansion License, Customer Kit

# Compellent Expansi Spec

Part Num	Price	QTY	Ext Price
225-1421	\$4,802.72	1	\$4,802.72
342-4037	\$1,195.12	12	\$14,341.44
331-3152	\$65.19	2	\$130.38
931-7307	\$0.00	1	\$0.00
931-7357	\$0.00	1	\$0.00
936-1248	\$0.00	1	\$0.00
951-5152	\$4,339.09	1	\$4,339.09
951-5192	\$1,104.88	1	\$1,104.88
955-3560	\$1,173.37	1	\$1,173.37
955-3590	\$496.35	1	\$496.35
936-1099	\$2,940.38	1	\$2,940.38
331-3584	\$34.57	2	\$69.14
		Sub-Total =	\$29,397.75

Part Num	Price	QTY	Ext Price
225-1421	\$4,802.72	1	\$4,802.72
342-4037	\$1,195.12	12	\$14,341.44
331-3152	\$65.19	2	\$130.38
931-7307	\$0.00	1	\$0.00
931-7357	\$0.00	1	\$0.00
936-1248	\$0.00	1	\$0.00
951-5152	\$4,339.09	1	\$4,339.09
951-5192	\$1,104.88	1	\$1,104.88
955-3560	\$1,173.37	1	\$1,173.37
955-3590	\$496.35	1	\$496.35
984-4327	\$0.00	1	\$0.00
331-3584	\$34.57	2	\$69.14
	S	ub-Total =	\$26,457.37

Part Num	Price	QTY	Ext Price
936-5779	\$0.00	1	\$0.00
936-5779	\$0.00	1	\$0.00
421-5845	\$0.00	3	\$0.00
421-5866	\$1,130.45	3	\$3,391.35
421-5864	\$1,130.45	3	\$3,391.35
421-5875	\$1,130.45	3	\$3,391.35
421-5863	\$2,260.90	3	\$6,782.70
	9	Sub-Total =	\$16,956.75

on Solution Total STS Pricing = \$72,811.87

ial Discount Off STS Contract = \$14,669.81

'otal Dell Special Deal Pricing = \$58,142.06